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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=17
ot wers e Tee fi -
(a) Belief in the primacy of is a

characteristic feature of existentialism.
( Fill in the blank )

9 A R Siegamd @51 cafdig |
(A 57 o T4 )
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(2)

(b) ‘““‘Man is condemned to be free.”” Name
the philosopher who is associated with
this statement.

‘YRR FEAE 2R q 17 G2 SRR were
Give TP AW o |

(c) Name the existentialist philosopher who is
associated with the concept ‘leap of faith’.

T e ) G 1 4 e (AC I (GRS ST
e feReemR 7 T |

(d) Which of the following sentences is true?
O (FICO1 A1 F ?

(i) Existentialism is an emphasis on
abstract thinking.

R [Age foen e vy 2mH
3 |

(ii) Existentialism is related to logical
positivism.

T SR ASTFANS (00 TS |

(iii) Existentialism does not emphasize
rationality.

SfEEAT Iad @S gFT @A THA |
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(e)

(1)

(g)

20A/T770

(3)

Name the second stage of existential
transformation according to Kierkegaard.

fedoes e WA e cREdEe e
FACHI AN 141 |
With which of the following word the
term ‘intentionality’ is associated?
RS @] ¥R AT TEIIN A W ?
(i) Body
39
(ii) God
e
(iif) Consciousness
Dl
(iv) Religion
5
( Choose the correct answer )
( % Tech! MR Sfere )
Who among the following is the author of
the book Being and Nothingness?
woTs SCEY 9 AN foeae (RIS Being
and Nothingness 5[€9 2[(T91 ? ‘
(i) Kierkegaard
facarre
(ii) Neitzsche
B!
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(4) (5)

&y Fezel (d) State any two obstacles that obstruct the
o exercise of man’s freedom according to
: Sartre.
(iv) J. P. Sartre
&, 1. wid T oo BEq FATONR SIS ] SR
ek , i core o1 aifeTme TrEd B |
( Choose the correct answer )
G
(o Towh fk Shrea ) 3. Answer/Write short notes on any three of the
following : 5x3=15
2. Answer the following in brief : 2x4=8 wo1s Tl R e fefeR Tk / weERe Pl ol
oo ey v Teg fra
(a) Write a note on Phenomenological
(a) In what sense phenomenology regards geducnon:
philosophy as a ‘rigorous science’? el Frefaead RE «ft cBreet feram o
ﬁ@%ﬁﬁ%@%?‘ﬁﬁﬁ‘mﬁﬁ@m’iﬁ : ]
SfeRe Fficg ? (b) Neitzsche’s concept of ‘will to power

RNera “FaerE 4fe Zo=’T &l

(b) What does Neitzsche’s nihilism mean?
(c) Explain existentialists’ view that ‘truth is

AR =TT [ Jom 2
subjective’.
(c) Name two  atheistic  existentialist 1o s’ T oo F91 SO AR
philosophers. ENEIESE IR
ST S Sieeml e for4
Ly wrfferea A forat | (d) Sartre’s concept of freedom
B9 FETOR 41=Rel
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(6) (7)

(e) Explain the statement that existentialism is

i ology as a trend of the
a ‘movement of protest’. fe) Explain phenomenology

contemporary Western Philosophy.

S 4 ‘2T AT — I 714 APTRRE ol R @ ey 4| B

4 AN F=7C I 40 |
(f)  Discuss general characteristics of
4. Answer any three of the following : 10x3=30 existentialism.
@1 fraicard & e fofwbr T i SRR Ae AFEFTIR ST 3541 |
(a) What is existentialism? Distinguish between i o
Theistic and Atheistic existentialism. 2+8=10

ifgg@m 52 Syqam e A sRegame
&S (12 fF=qeie 347 |

(b) Discuss after Kierkegaard the three stages
of human existence.

G e T wifegd fofGl B9 S
Fq |

(c) Explain Nietzsche’s concept of Superman.

TN Sfoqr[a GRECE! =T 49 |

(d) *“Existence precedes essence.” Explain
and examine the statement.

“ufgg AeTeR oH9el I SfEdm wEn S
a5 w41 |
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